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y=axX:+ (bX:)+cC

y:
21,584.684
X1 =
y:
a= 7.911
X1 =
y:
a-= 8.822
X1 =
y:
a= -207.428
X1 =
y:

a= 176291.578
X1 =

b= 98.681
Xo =

b= 217253.503
Xo =

c=  -97784.582
c= -640.429
c= 1485.371

¢ = -955076.893
)

€ = -1302170.927
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x1 x1 X2 x1 x1 X2 x1
6.472 468.345 19.368 824.685 12.773 5.132 9.421
5.902 301.787 17.123 504.644 0.000 4.806 8.333
5.460 164.289 23.923 650.726 100.000 4.763 8.076
6.188 358.332 18.616 674.530 61.651 4.906 8.848
5.772 288.455 14.763 693.158 0.000 4.680 8.531
5.984 315.908 23.948 544.798 19.527 4.941 8.423
5.763 249.986 20.624 557.299 48.106 4.722 8.309
6.119 374.414 14.742 701.381 12.976 4.927 8.934
5.737 219.174 15.566 511.909 25.817 4.713 8.318
5.818 246.475 19.657 726.194 100.000 4.823 8.562

41,911 4,976 8,761 157,219 358,672

29,608 3,437 5,937 89,043 166,867

20,068 3,020 7,226 58,959 121,560

35,781 4,031 7,436 97,981 257,657

26,802 3,098 7,600 61,670 201,773

31,378 4,222 6,292 114,322 182,733

26,608 3,372 6,402 60,816 162,636

34,292 3,776 7,673 112,640 272,818

26,047 2,630 6,001 63,484 164,222

27,795 3,249 7,892 71,994 207,238




394.0 2,810.3 2,515 183.2 168 141,590 146,029
96.0 679.8 404 48.0 49 20,028 18,771
29.5 176.4 84 14.8 17 4,671 4,917

228.1 1,665.2 1,094 109.0 106 61,001 55,156
81.4 613.7 234 40.4 32 14,810 13,756

165.7 869.4 752 80.4 90 39,239 33,080
54.5 336.5 204 26.4 28 10,050 11,092

236.2 1,945.5 1,200 115.6 111 67,958 76,663
61.6 560.2 208 30.6 26 10,538 10,111
39.5 274.2 144 17.8 20 8,551 7,657




